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QUESTION 1

Given: Which two methods modify field values? (Choose two.) 

A. setAllCounts 

B. setACount 

C. setGCount 

D. setCCount 

E. setTCount 

Correct Answer: CD 

 

QUESTION 2

Which two statements correctly describe capabilities of interfaces and abstract classes? (Choose two.) 
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A. Interfaces cannot have protected methods but abstract classes can. 

B. Both interfaces and abstract classes can have final methods. 

C. Interfaces cannot have instance fields but abstract classes can. 

D. Interfaces cannot have static methods but abstract classes can. 

E. Interfaces cannot have methods with bodies but abstract classes can. 

Correct Answer: AC 

Reference: https://www.guru99.com/interface-vs-abstract-class-java.html 

 

QUESTION 3

Your organization makes mlib.jar available to your cloud customers. While working on a code cleanup project for
mlib.jar, you see this method by customers: 

What security measures should be added to this method so that it meets the requirements for a customer accessible
method? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

QUESTION 4

Given: 
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Which statement on line 1 enables this code to compile? 

A. Supplier function = () -> states.contains("N"); 

B. Function function = s -> s.contains(`N"); 

C. Consumer function = s -> {if(s.contains("N")) states.remove(s);}; 

D. Predicate function = s -> s.contains("N"); 

Correct Answer: D 

 

QUESTION 5

Given: 

What is the result? 

A. hat at store 1 

B. An IndexOutOfBoundsException is thrown at runtime. 

C. at once 0 

D. hat at store 4 

E. at once 1 

Correct Answer: A 
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